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(b) What is age norm?
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L. Answer the following questions : 1x10=10
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(@) What is demographic dividend:
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(b) Define absolute poverty.
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() Give one reason of improvem,
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What is the objective of National Rural
Health Mission (NRHM)?
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Define gross enrolment rate.
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In which year was NITI Aayog set up?
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Mention one drawback of Mahatma

Gandhi National Rural Employment
Guarantee Act or MGNREGA.
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What is Aatmanirbhar Bharat?
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Great Leap Forward Programme relates

to which country?
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female literacy in India.
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2. Answer the following questions 2x5=]
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fa) What is human capital?
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(b) Write two recent features of India’s age
composition.
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(c) What is human development index?
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(d) Give two factors which are responsible
for increase in the growth of savings in

India.
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 (¢) Mention two causes of gender inequality

in India.
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(f)' Mtlen.txon some of the social measures for
so. vmg the problem of populati
explosion in India. b
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(a) Explain the structural changes that
have occurred in India during the Plan
period.
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(c) Explain the relationship
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development in the light of Indi
planned experience:
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What is sustainable development?
Explain the environment friendly
policies that have been adopted by the
government to mitigate climate change.
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Explain the current state of primary
education in India.
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Discuss the different policies adopted by
the government of India to combat
poverty.
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Explain the causes of gverall
unemployment problem in India.

Mention some of the recent measures
taken by the government to create new
employment opportunities.
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(7))

Give a comparative study of India,
China and Pakistan with respect to
demographic parameters and GDP
growth rate.
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